

GALOIS GROUPS OF MODULES AND INVERSE POLYNOMIAL MODULES

SANGWON PARK AND JINSUN JEONG

ABSTRACT. Given an injective envelope E of a left R -module M , there is an associative Galois group $Gal(\phi)$. Let R be a left noetherian ring and E be an injective envelope of M , then there is an injective envelope $E[x^{-1}]$ of an inverse polynomial module $M[x^{-1}]$ as a left $R[x]$ -module and we can define an associative Galois group $Gal(\phi[x^{-1}])$. In this paper we describe the relations between $Gal(\phi)$ and $Gal(\phi[x^{-1}])$. Then we extend the Galois group of inverse polynomial module and can get $Gal(\phi[x^{-s}])$, where S is a submonoid of \mathbb{N} (the set of all natural numbers).

1. Introduction

Given an injective envelope $M \subset E$, by the Galois group of this envelope we mean all $f \in Hom_R(E, E)$ such that $f(x) = x$ for all $x \in M$ or equivalently such that

$$\begin{array}{ccc} M & \longrightarrow & E \\ & \searrow & \downarrow f \\ & & E \end{array}$$

is a commutative diagram. Any such f is an automorphism of E and we also see that

$$\begin{array}{ccc} M & \longrightarrow & E \\ & \searrow & \downarrow f^{-1} \\ & & E \end{array}$$

is commutative. So we easily see that the set of f form a group (using the composition of functions as operation). If $\phi : M \rightarrow E$ denotes the canonical injection then the group is denoted $Gal(\phi)$. Northcott ([4]) defined inverse polynomial modules and used inverse polynomial modules to study the properties of injective modules and he studied $K[x^{-1}]$ as $K[x]$ -module on field K . And

Received January 2, 2006.

2000 *Mathematics Subject Classification*. Primary 16E30; Secondary 13C11, 16D80.

Key words and phrases. injective module, injective envelope, Galois group, inverse polynomial module.

This paper was supported by Dong-A University Research fund, in 2005.

McKerraw ([2]) showed that if R is a left noetherian ring and E is an injective left R -module, then $E[x^{-1}]$ is an injective envelope of $M[x^{-1}]$ as $R[x]$ -module. Inverse polynomial modules were studied in ([5]), ([6]) and recently in ([1]), ([7]), ([8]), ([9]).

Definition 1.1 ([5]). Let R be a ring and M be a left R -module, then $M[x^{-1}]$ is a left $R[x]$ -module defined by

$$x(m_0 + m_1x^{-1} + \cdots + m_nx^{-n}) = m_1 + m_2x^{-1} + \cdots + m_nx^{-n+1}$$

and such that

$$r(m_0 + m_1x^{-1} + \cdots + m_nx^{-n}) = rm_0 + rm_1x^{-1} + \cdots + rm_nx^{-n}$$

where $r \in R$. We call $M[x^{-1}]$ as an inverse polynomial module.

If R is left noetherian and if $M \subset E$ is as above, then $M[x^{-1}] \subset E[x^{-1}]$ is an injective envelope over $R[x]$. If $\phi[x^{-1}] : M[x^{-1}] \rightarrow E[x^{-1}]$ denotes the canonical injection, then the group is denoted $Gal(\phi[x^{-1}])$.

Lemma 1.2 ([5]). Let M and N be left R -modules, then

$$Hom_{R[x]}(M[x^{-1}], N[x^{-1}]) \cong Hom_R(M, N)[[x]].$$

Theorem 1.3. There is a ring isomorphism

$$Hom_{R[x]}(M[x^{-1}], N[x^{-1}]) \cong Hom_R(M, N)[[x]].$$

Proof. By the Lemma 1.2., we know that two groups are isomorphic. Let $\sigma, \tau \in Hom_{R[x]}(M[x^{-1}], N[x^{-1}])$, then σ corresponds to $f_0 + f_1x + f_2x^2 + \cdots \in Hom_R(M, N)[[x]]$ and τ corresponds to $g_0 + g_1x + g_2x^2 + \cdots \in Hom_R(M, N)[[x]]$. Then $\sigma \circ \tau$ corresponds to

$$\sum_{n=0}^{\infty} \left(\sum_{i+j=n} f_i \circ g_j \right) x^n.$$

Hence, $Hom_{R[x]}(M[x^{-1}], N[x^{-1}]) \cong Hom_R(M, N)[[x]]$. \square

2. $Gal(\phi)$ and $Gal(\phi[x^{-1}])$

Theorem 2.1. If R is a left noetherian ring and if $M \subset E$ is an injective envelope of R -module, then $f = f_0 + f_1x + f_2x^2 + f_3x^3 + \cdots \in End_R(E)[[x]]$ is in $Gal(\phi[x^{-1}])$ if and only if $f_0 \in Gal(\phi)$ and $f_i(M) = 0$ for all $i \geq 1$.

Proof. Let $m \in M$ and $f \in Gal(\phi[x^{-1}])$, then

$$\begin{aligned} & f(m + 0x^{-1} + 0x^{-2} + \cdots + 0x^{-i}) \\ &= (f_0 + f_1x + f_2x^2 + \cdots)(m + 0x^{-1} + 0x^{-2} + \cdots + 0x^{-i}) \\ &= (f_0 + f_1x + f_2x^2 + \cdots)(m) \\ &= f_0(m) + f_1(m)x + f_2(m)x^2 + \cdots \\ &= m. \end{aligned}$$

Thus $f_0(m) = m$ for all $m \in M$, so that $f_0 \in Gal(\phi)$. And

$$\begin{aligned} & f(m + mx^{-1}) \\ &= (f_0 + f_1x + f_2x^2 + \dots)(m + mx^{-1}) \\ &= f_0(m) + f_0(m)x^{-1} + f_1(m)x + f_1(m) + f_2(m)x^2 + f_2(m)x + \dots \\ &= (f_0(m) + f_1(m)) + f_0(m)x^{-1} + (f_1(m) + f_2(m))x + \dots \\ &= m + mx^{-1}. \end{aligned}$$

Since $f_0(m) = m$, $m + f_1(m) = m$ implies $f_1(m) = 0$. Thus $f_1(M) = 0$. And

$$\begin{aligned} & f(m + mx^{-1} + mx^{-2}) \\ &= (f_0 + f_1x + f_2x^2 + \dots)(m + mx^{-1} + mx^{-2}) \\ &= f_0(m) + f_0(m)x^{-1} + f_1(m)x + f_1(m) + f_1(m)x^{-1} + f_2(m)x^2 \\ &\quad + f_2(m)x + f_2(m) + \dots \\ &= (f_0(m) + f_1(m) + f_2(m)) + (f_0(m) + f_1(m))x^{-1} + f_0(m)x^{-2} \\ &\quad + (f_1(m) + f_2(m))x + \dots \\ &= m + mx^{-1} + mx^{-2}. \end{aligned}$$

Since $f_0(m) = m$, $f_1(M) = 0$, $f_0(m) + f_1(m) + f_2(m) = m$ implies $f_2(m) = 0$. Thus $f_2(M) = 0$. By the same process we can get $f_i(M) = 0$ for all $i \geq 1$.

Conversely, let $f = f_0 + f_1x + f_2x^2 + f_3x^3 + \dots$ with $f \in Gal(\phi[x^{-1}])$ and $f_i(M) = 0, i \geq 1$. Let $m_0 + m_1x^{-1} + m_2x^{-2} + \dots + m_ix^{-i} \in M[x^{-1}]$. We want to show

$$f(m_0 + m_1x^{-1} + m_2x^{-2} + \dots + m_ix^{-i}) = m_0 + m_1x^{-1} + m_2x^{-2} + \dots + m_ix^{-i}.$$

Then

$$\begin{aligned} & f(m_0 + m_1x^{-1} + m_2x^{-2} + \dots + m_ix^{-i}) \\ &= (f_0 + f_1x + f_2x^2 + \dots)(m_0 + m_1x^{-1} + m_2x^{-2} + \dots + m_ix^{-i}) \\ &= f_0(m_0) + f_0(m_1)x^{-1} + f_0(m_2)x^{-2} + \dots + f_0(m_i)x^{-i} \\ &\quad + f_1(m_0)x + f_1(m_1) + f_1(m_2)x^{-1} + \dots + f_1(m_i)x^{-i+1} + f_2(m_0)x^2 \\ &\quad + f_2(m_1)x + f_2(m_2) + f_2(m_3)x^{-1} + \dots + f_2(m_i)x^{-i+2} + \dots + f_i(m_i) \\ &= m_0 + m_1x^{-1} + m_2x^{-2} + \dots + m_ix^{-i}, \end{aligned}$$

since $f_0 \in Gal(\phi)$ and $f_i(M) = 0$ for all $i \geq 1$. Therefore, $f = f_0 + f_1x + f_2x^2 + f_3x^3 + \dots \in Gal(\phi[x^{-1}])$. \square

There are natural group homomorphisms $Gal(\phi) \rightarrow Gal(\phi[x^{-1}])$ by $g \mapsto g + 0x + 0x^2 + \dots$ and $Gal(\phi[x^{-1}]) \rightarrow Gal(\phi)$ by $f_0 + f_1x + f_2x^2 + \dots \mapsto f_0$. The composition $Gal(\phi) \rightarrow Gal(\phi[x^{-1}]) \rightarrow Gal(\phi)$ is the identity map on $Gal(\phi)$. The kernel of $Gal(\phi[x^{-1}]) \rightarrow Gal(\phi)$ consists of all $id_E + f_1x + f_2x^2 + \dots$, where $f_i \in Hom_R(E, E)$ and $f_i(M) = 0$, for all $i \geq 1$.

Lemma 2.2. *Let $\psi : Gal(\phi) \longrightarrow Gal(\phi[x^{-1}])$ be defined by $\psi(f) = f + 0x + 0x^2 + \dots$. If $End(E)$ is a commutative ring, then $Im(\psi)$ is a normal subgroup of $Gal(\phi[x^{-1}])$.*

Proof. Let $f_0 + 0x + 0x^2 + \dots \in Im(\psi)$, and $g_0 + g_1x + g_2x^2 + \dots \in Gal(\phi[x^{-1}])$. Let $(g_0 + g_1x + g_2x^2 + \dots)^{-1} = h_0 + h_1x + h_2x^2 + \dots$. Then

$$(g_0 + g_1x + g_2x^2 + \dots) \circ (h_0 + h_1x + h_2x^2 + \dots) = id_E + 0x + 0x^2 + \dots,$$

implies $g_0 \circ h_0 = id_E$ so that $h_0 = g_0^{-1}$ and $\sum_{i+j=n} g_i \circ h_j = 0, n \geq 1$. Thus

$$\begin{aligned} & (g_0 + g_1x + \dots) \circ (f_0 + 0x + \dots) \circ (h_0 + h_1x + \dots) \\ &= ((g_0 \circ f_0) + (g_1 \circ f_0)x + (g_2 \circ f_0)x^2 + \dots) \circ (h_0 + h_1x + h_2x^2 + \dots) \\ &= (g_0 \circ f_0 \circ h_0) + (g_0 \circ f_0 \circ h_1 + g_1 \circ f_0 \circ h_0)x \\ &+ (g_0 \circ f_0 \circ h_2 + g_1 \circ f_0 \circ h_1 + g_2 \circ f_0 \circ h_0)x^2 + \dots = f_0, \end{aligned}$$

since $End(E)$ is a commutative ring. Hence, $Im(\psi)$ is a normal subgroup of $Gal(\phi[x^{-1}])$. \square

We note that $Im(\psi)$ is not a normal subgroup of $Gal(\phi[x^{-1}])$, in general. So $Gal(\phi[x^{-1}])$ is the semidirect product of $Gal(\phi)$ and $K = ker(Gal(\phi[x^{-1}]) \rightarrow Gal(\phi))$.

Lemma 2.3. *$Gal(\phi)$ is commutative if and only if $g \circ g' = g' \circ g$ for all $g, g' \in Hom_R(E, E)$ with $g(M) = 0, g'(M) = 0$.*

Proof. If $f \in Gal(\phi)$, then $g = f - id_E \in Hom_R(E, E)$ with $g(M) = 0$. And given $g \in Gal(\phi[x^{-1}])$ with $g(M) = 0$, $f = g + id_E \in Gal(\phi)$. Therefore, there is one to one correspondence between $Gal(\phi)$ and the set of $g \in Hom_R(E, E)$ with $g(M) = 0$. So, given $f, f' \in Gal(\phi)$ choose $g = f - id_E, g' = f' - id_E \in Hom_R(E, E)$ with $g(M) = 0, g'(M) = 0$. Then $g \circ g' = g' \circ g$.

Conversely, given $g, g' \in Hom_R(E, E)$ with $g(M) = 0, g'(M) = 0$ choose $f = g + id_E, f' = g' + id_E \in Gal(\phi)$. Then $f \circ f' = f' \circ f$. Thus, $Gal(\phi)$ is commutative. \square

Theorem 2.4. *$Gal(\phi[x^{-1}])$ is commutative if and only if $Gal(\phi)$ is commutative.*

Proof. Since $Gal(\phi)$ is a subgroup of $Gal(\phi[x^{-1}])$, $Gal(\phi)$ is commutative. Conversely, let $f_0 + f_1x + f_2x^2 + \dots, g_0 + g_1x + g_2x^2 + \dots \in Gal(\phi[x^{-1}])$. Then by the Theorem 2.1., $f_0, g_0 \in Gal(\phi), f_i(M) = 0, g_j(M) = 0$, for all $i, j \geq 1$. And by the Lemma 2.3., $f_i \circ g_j = g_j \circ f_i, i, j \geq 1$. Given $f_i \in Gal(\phi)$ choose $g_i = f_i - id_E \in Hom(E, E)$ with $g_i(M) = 0$. Then

$$\begin{aligned} f_0 \circ g_i &= f_0 \circ (f_i - id_E) = f_0 \circ f_i - f_0 = f_i \circ f_0 - f_0 \\ &= (f_i - id_E) \circ f_0 = g_i \circ f_0. \end{aligned}$$

So

$$\begin{aligned} & (f_0 + f_1x + f_2x^2 + \dots) \circ (g_0 + g_1x + g_2x^2 + \dots) \\ &= (f_0 \circ g_0) + (f_0 \circ g_1 + f_1 \circ g_0)x + (f_0 \circ g_2 + f_1 \circ g_1 + f_2 \circ g_0)x^2 + \dots \\ &= (g_0 \circ f_0) + (g_1 \circ f_0 + g_0 \circ f_1)x + (g_2 \circ f_0 + g_1 \circ f_1 + g_0 \circ f_2)x^2 + \dots \\ &= (g_0 + g_1x + g_2x^2 + \dots) \circ (f_0 + f_1x + f_2x^2 + \dots). \end{aligned}$$

Therefore, $Gal(\phi[x^{-1}])$ is commutative. □

Theorem 2.5. *Let $\varphi : Gal(\phi[x^{-1}]) \longrightarrow Gal(\phi)$ be defined by $\varphi(f_0 + f_1x + f_2x^2 + \dots) = f_0$. Then $Gal(\phi[x^{-1}])$ is the direct product of K and $Gal(\phi)$ if and only if $Gal(\phi)$ is commutative, where $K = \ker(\varphi)$.*

Proof. Let $g, g' \in Gal(\phi)$. Then $id_E + g \in Gal(\phi)$ and $(id_E + g'x)^{-1} \circ (id_E + g) \circ (id_E + g'x) \in Gal(\phi)$. So let $(id_E + g'x)^{-1} = id_E - g'x + \text{etc.}$, then

$$\begin{aligned} & (id_E + g'x)^{-1} \circ (id_E + g) \circ (id_E + g'x) \\ &= (id_E - g'x + \text{etc}) \circ (id_E + g) \circ (id_E + g'x) \\ &= id_E + (-g' \circ g + g \circ g')x + \text{etc.} \in Gal(\phi) \end{aligned}$$

implies $-g' \circ g + g \circ g' = 0$ so that $g' \circ g = g \circ g'$.

Therefore, $Gal(\phi)$ is commutative.

Conversely, by the Theorem 2.4., if $Gal(\phi)$ is commutative then $Gal(\phi[x^{-1}])$ is commutative. Therefore, $Gal(\phi[x^{-1}])$ is the direct product of K and $Gal(\phi)$. □

3. Generalization of Galois group

Definition 3.1 ([8]). Let R be a ring and M be a left R -module, and $S = \{0, k_1, k_2, \dots\}$ be a submonoid of \mathbb{N} (the set of all natural numbers). Then $M[x^{-s}]$ is a left $R[x^s]$ -module such that

$$\begin{aligned} & x^{k_i}(m_0 + m_1x^{-k_1} + m_2x^{-k_2} + \dots + m_nx^{-k_n}) \\ &= m_1^{-k_1+k_i} + m_2x^{-k_2+k_i} + \dots + m_nx^{-k_n+k_i} \end{aligned}$$

where

$$x^{-k_j+k_i} = \begin{cases} x^{-k_j+k_i} & \text{if } k_j - k_i \in S \\ 0 & \text{if } k_j - k_i \notin S. \end{cases}$$

For example, if $S = \{0, 2, 3, \dots\}$, then $m_0 + m_2x^{-2} + m_3x^{-3} + \dots + m_ix^{-i} \in M[x^{-s}]$ and if $S = \{0, 1, 2, 3, \dots\}$, then $M[x^{-s}] = M[x^{-1}]$.

Similarly, we define $M[[x^{-s}]]$, $M[x^s, x^{-s}]$, $M[[x^s, x^{-s}]]$, $M[x^s, x^{-s}]$ and $M[[x^s, x^{-s}]]$ as left $R[x^s]$ -modules.

Definition 3.2. Given any module M and $f \in \text{End}(E)$ we say f is locally nilpotent on M if for every $x \in M$, there exist $n \geq 1$ such that $f^n(x) = 0$.

Theorem 3.3 (Matlis and Gabriel). *If R is a left noetherian ring and E is an injective left R -module and $f \in \text{End}(E)$ is such that E is an essential extension of $\ker(f)$ then f is locally nilpotent on E .*

Theorem 3.4. *Let R be a commutative noetherian ring and S be a submonoid, and E be an injective left R -module. Then $E[x^{-s}]$ is an injective left $R[x^s]$ -module.*

Proof. Let $S = \{0, k_1, k_2, \dots\}$ be a submonoid. Then $\text{Hom}_R(R[x^s], E) \cong E[[x^{-s}]]$ is an injective left $R[x^s]$ -module. Define $\phi : E[[x^{-s}]] \rightarrow E[[x^{-s}]]$ by $\phi(f) = x^{k_1} f$ for $f \in E[[x^{-s}]]$. Then ϕ is not locally nilpotent on $E[[x^{-s}]]$. So $E[[x^{-s}]]$ is not an essential extension of $\ker(\phi)$. Let \bar{E} be an injective envelope of $\ker(\phi)$. Then

$$\ker(\phi) \subset \bar{E} \subset E[[x^{-s}]].$$

Then $\phi : \bar{E} \rightarrow \bar{E}$ defined by

$$\phi(f) = x^{k_1} f,$$

for $f \in \bar{E}$ is locally nilpotent on \bar{E} . So $\bar{E} \subset E[x^{-s}]$. But $E[x^{-s}]$ is an essential extension of $\ker(\phi)$, so that $E[x^{-s}]$ is an essential extension of \bar{E} . Therefore, $\bar{E} = E[x^{-s}]$. Hence, $E[x^{-s}]$ is an injective left $R[x^s]$ -module. \square

We can generalize the Theorem 1.3. and get

$$\text{Hom}_{R[x^s]}(M[x^{-s}], N[x^{-s}]) \cong \text{Hom}_R(M, N)[[x^s]].$$

If $\phi[x^{-s}] : M[x^{-s}] \rightarrow E[x^{-s}]$ denotes the canonical injection, then the group is denoted $\text{Gal}(\phi[x^{-s}])$.

Theorem 2.1. can be extended to the following remark.

Remark 1. If R is a left noetherian ring and if $M \subset E$ is an injective envelope of R -module, then $f = f_{k_0} + f_{k_1}x^{k_1} + f_{k_2}x^{k_2} + f_{k_3}x^{k_3} + \dots \in \text{End}_R(E)[[x^s]]$ is in $\text{Gal}(\phi[x^{-s}])$ if and only if $f_{k_0} \in \text{Gal}(\phi)$ and $f_{k_i}(M) = 0, k_i \in S, k_i \neq k_0$.

Lemma 2.2. can be extended to the following remark.

Remark 2. Let $\psi : \text{Gal}(\phi) \rightarrow \text{Gal}(\phi[x^{-s}])$ be defined by $\psi(f) = f + 0x^{k_1} + 0x^{k_2} + \dots$. If $\text{End}(E)$ is a commutative ring, then $\text{Im}(\psi)$ is a normal subgroup of $\text{Gal}(\phi[x^{-s}])$.

Theorem 2.4. can be extended to the following remark.

Remark 3. $\text{Gal}(\phi[x^{-s}])$ is commutative if and only if $\text{Gal}(\phi)$ is commutative.

Theorem 2.5. can be extended to the following remark.

Remark 4. Let $\varphi : \text{Gal}(\phi[x^{-s}]) \rightarrow \text{Gal}(\phi)$ be defined by $\varphi(f_{k_0} + f_{k_1}x^{k_1} + f_{k_2}x^{k_2} + \dots) = f_{k_0}$. Then $\text{Gal}(\phi[x^{-s}])$ is the direct product of K and $\text{Gal}(\phi)$ if and only if $\text{Gal}(\phi)$ is commutative, where $K = \ker(\text{Gal}(\phi[x^{-s}]) \rightarrow \text{Gal}(\phi))$.

References

- [1] Z. Lin, *Injectivity of modules of generalized inverse polynomials*, *Comm. Algebra* **29** (2001), no. 2, 583–592.
- [2] A. S. McKerrow, *On the injective dimension of modules of power series*, *Quart. J. Math. Oxford Ser. (2)* **25** (1974), 359–368.
- [3] L. Melkersson, *Content and inverse polynomials on Artinian modules*, *Comm. Algebra* **26** (1998), no. 4, 1141–1145.
- [4] D. G. Northcott, *Injective envelopes and inverse polynomials*, *J. London Math. Soc. (2)* **8** (1974), 290–296.
- [5] S. Park, *Inverse polynomials and injective covers*, *Comm. Algebra* **21** (1993), no. 12, 4599–4613.
- [6] ———, *The Macaulay-Northcott functor*, *Arch. Math. (Basel)* **63** (1994), no. 3, 225–230.
- [7] ———, *Gorenstein rings and inverse polynomials*, *Comm. Algebra* **28** (2000), no. 2, 785–789.
- [8] ———, *The general structure of inverse polynomial modules*, *Czechoslovak Math. J.* **51** (126) (2001), no. 2, 343–349.
- [9] S. Park and E. Cho, *Injective and projective properties of $R[x]$ -modules*, *Czechoslovak Math. J.* **54** (129) (2004), no. 3, 573–578.

SANGWON PARK
DEPARTMENT OF MATHEMATICS
DONG-A UNIVERSITY
PUSAN 604-714, KOREA
E-mail address: `swpark@donga.ac.kr`

JINSUN JEONG
DEPARTMENT OF MATHEMATICS
DONG-A UNIVERSITY
PUSAN 604-714, KOREA
E-mail address: `jsjeong@donga.ac.kr`